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Directions: Choose the word or phrase (1); (2);(3 )y 0ri(4) that best completes each
| sentence. Then mark the correct choice on your answer sheet. _

e T

J-  The number of unemployed workers -------=-- between two and threc million.

1) emerges 2) regulates 3) fluctuates 4) distributes
2-  Toxic chemicals tend to ———e-—- in the body.

1) convene 2) enforce 3) segregate 4) accumulate
3- In some countries, il is 4 -----———m-- that guests wear black clothes.

1} strand 2) convention 3) framework 4) participation
4- We do not know which behavioral —-—eeeeee- are inborn and which acquired.

1) traits 2) conducts 3) schedules 4} requirements
5- The poems are supposed to be by Milton, but they are actually of doubtful -=—ee-eevv y

1) revision 2) transition 3).controversy 4} authenticity
6- The main features of this theory are clearly ------ -=== in the first chapter of this book.

1) involved 2) exceeded 3) delineated 4) comprised
7-  The replies to the questionnaire -----—-—- broadly into there groups.

1) assign 2) segment 3) transmit 4) incorporate
8- Research shows that it is not divorce ---——--== that harms children, but the continuing conflict

between parents,

1) per se 2) ad hoc 3) vis-a-vis 4) per capita
9- They have identified serious —--—— in the/design of the solar-powered car.

1) ruins 2) bidding 3) flaws 4) prohibition
10- You are more —----—- to illness when you are tired.

1) prone 2) tense 3) definite 4} explicit

PART B: Grammar

Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
best fits each space. Then mark the correct choice on your answer sheet.

All living things need 10 be protected from heat, cold and weather conditions, injury, other
amimals and germs. The skin (11) ---------- this work of protection. Birds are greatly helped by an
outer covering of feathers and most mammals (12) ----vevee- a coat of fur. Human beings have hair
on their bodies but notenough to act as a protection. However, the skin, although (13) -=------— with
clothes for warmth in most climates, does a great deal to keep the body healthy, and, (14) ----------
cut or pierced, is practically germ-proof. The whole of the human body is covered by skin, (15) -----
in thi¢kness according 1o the part of the body that it covers. It is thinnest over the expcsed part of
the eyebalisiand thickest on the soles of the feet.

11- 1) does a'lot 2) makes much 3} makes lots of 4) does much of

12- 1} in 2) by 3) into 4) from

13- 1) covering 2)Y1 covers 3) it hasto cover 4) 1t has to be covered
14- 1) unless 2) though 3) it was 4) 10 be

15- 1) that varies 2) which varies 3) that it varies 4) which it varies
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IPART C: ReadingCum prehen sion

Directions: Read the following two passages and answer the questions by chaosing the best choice
(), (2), (3), or (4).

Passage I:

All aircraft engines and gas turbines are heat engines, in which thermal energy
derived from the combustion of fuel with air (or derived, perhaps, from a
nuclear reactor) is converted to useful work in one way or another. The
efficiency of this conversion—the ratio of useful work output to energy input
by the fuel or reactor—is of major and growing concern.

When the useful output of the gas turbine is in the form of shaft power
used to drive a wheeled vehicle, a machine, or an electric generator, the
efficiency may usually be characterized by the rhermal efficiency familiar from
thermodynamics, defined as the fraction of thermal energy input converted to
mechanical work.

In aircraft propulsion the useful work of the engine is work done in pro-
pelling the aircraft. It is appropriate then to define a second efficiency, the
propulsive efficiency, as the ratio of propulsive work to total mechanical
work. Although analogous efficiencies of utilization can be defined for other
applications of gas turbines, the propulsive efficiency is particularly important
because it plays a dominant role in determining the configurations of aircraft
engines. The different types of engines—ramjets, turbojets, turbofans, and
turboprops—result from optimizing the overall efficiency, which is the product
of thermal efficiency and propulsive efficiency, for different flight regimes.

Overall efficiency, however, is not the sole criterion for engine design. In
aircraft engines weight and size are alse important. Cost, while high for
optimum engines, is important. Recently, takeoff noise has become a major
problem for commercial aircraft operators, so that noise produced per unit of
thrust has become an important criterion for engine design.

In automotive applications cost limits engines to much simpler and less
efficient designs than those evolved for aircraft. For stationary applications

reliability, efficiency, and cost are controlling, while size and weight are much
less important.

16- What would be the best title for this text?

1) Aircraft Engines 2) Engine for Different Uses
3) Different Engine Efficiencies 4) Aircraft Engines and Gas Turbines
17-  According to the text, what are different usages of engine?
1) automobiles, aircraft, and trains 2) cars, aircraft, and powerplants
3) aireraft, powerplants, and laboratories 4) aircraft, stationary applications, and trains
18- What is the main concern in aircraft engines these days, according to the text?
1) Cost .2) Noise 3) Size 4) Weight
19-  According to the text, the engines used in cars should be -=-—-s==;
1) cheap 2) simple 3) small 4) quiet
20-  When is thermal efficiency used , according to the text?
1) inaircraft engines only 2) in stationary applications only
3) when shaft power is important 4) when shaft power is used for car engines
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21-  According to the text, different types of engines are produced if
1) overall efficiency is optimized
2) thermal efficiency is optimized
3) maximum overall efficiency is achieved
4) propulsive efficiency 1s more than thermal efficiency
22-  According to the text, in all aircraft engines -————---- .
1) thermal energy derived from the combustion is converted to kinetic energy
2) hydrodynamic energy is converted to useful work
3) thermal energy of combustion is dissipated
4) work is produced from thermal energy
23-  According to the text, why is propulsive efficiency important?
1} because thermal efficiency is not important.
2) because it plays an important role in aircrafl sizing.
3) because it helps finding the aircrafi configuration.
4) because it is the ratio of propulsive work to total mechanical work.
24-  According to the text, what is important in aircraft engines (commercial)?

1} weight, size, noise and cost 2) cost, noise and weight
3) weight, size and noise 4) weight, size and cost
25- In stationary application, what are important, according to the text?
1) efficiency, cost, noise and assurance 2) reliability, efficiency, cost, and noise
3) efficiency, size, reliability and noise 4) cost, assurance, and working efficiently
Passage II:

An autopilot is a device that can automatically control an aircraft’s motion about one or
more of its three axes (pitch, yaw and roll), via input from a human pilot pushing buttons
and turning knobs, or via navigation equipment sensing signals from space or ground
navigation aids stations.

Autopilots are designed to control the aircraft and help reducing the pilot’s workload.
There is nothing more dangerous during the approach and landing phases of a flight than
a pilot who is mentally and physically exhausted from simply flying the airplane.

The limitations of the autopilot depend on the complexity of the system. The common
features available on an autopilot are altitude and heading hold. More advanced systems
may include a vertical speed and/or indicated airspeed hold mode. Most autopilot systems
are coupled to navigational aids.

An autopilot system consists of servos depends on the complexity of the system. For
example, a single axis autopilot controls the aircraft about the longitudinal axis and a
servo actuates the ailerons. A three-axis autopilot controls the aircraft about the
longitudinal, lateral, and vertical axes; and three different servos actuates the ailerons, the
elevator and the rudder. The autopilot system also incorporates a disconnect safety

feature to automatically or manually disengage the system. Autopilots can also be
manually overridden.

26- Autopilot is a device for:
1) controlling metion of an aircralt.
2) aiding the pilot for landing and take off.
3) helping exhausted pilots via monitoring an aircraft moving path.
4) sending signals to the ground stations for safe pilot’s operations,
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27-  Which of the following systems does not send control signals to autopilot system?
1) Satellite Navigation system.
2) Aurcrafl control systems.
3) Pilot pushing buttons, turning knobes, ....
4) Navigation system sensing signals from ground stations.
28- How many flight control surfaces are generally engaged to autopilot systems?

1) Two ailerons. 2) All control surfaces.  '3) Elevators and Rudders. 4) Depends on the system.

mode.

29-  Autopilots are generally work in

1) flight time control 2) vertical speed control  3) flight direction control 4) indicated airspeed control

30-  According to the passage, overridden refers to -—--—-,
1) guided 2) activated 3) dominated 4) changed
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